DEFENSE 1 2 3 4 5 6 7 8 9 | OFFENSE

| "Deblrie |18 | x| 18|24 X | 1818 !
12 Adarn | €| X 55|28 X IS5 | X 2
*Tose s |S5| % |55 %] ¢ x 3
‘Gonvdo |LF | LF| X |F e | tr| p !
* Senk lop |26 | X |Relss | x |26 5
* Merke [P [P | x[18] ¥ |55 s
" Pl er | MFcepRl X P X 7
* Mike 52| X |#¢|c [UF|RF| X ®
"Meggie | X |SF|SF| x |SF|26|5F °
“Bill  |[3€/38] c| ¥|36]38] x fo
11@557‘(”)‘!’[’-"5 11
% Sear |38 X (38| ¥ |cC |% |36 12
“Jlemnel,| 26 18 2628/ 28 x| X 13
C“‘Dwf/ X lce| LE|ge|as | X |o® "
“Erise. |—| X|28|)8| X |s¥| AF "
®Tim | I X |REBE PP 16
17 ' 17
18 | 18
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20 | 20
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:NUMBERS

& |-

6-E3

-one-base error
by 1B(#3) not
.catching throw
:from SS(#6);
:then RBI by
‘batter #4

&

‘two-base hit;
-then RBI by
‘batter #4

&
S

‘three-base hit,
\but thrown out
»trying for home,
‘LF(#7) to
-SS(#86) to C(#2)

_[4]
caNEo
_|5]

I
o)

% | &2

-home run,
- self-RBI by
:batter #5

_ls
MALYL

:ITI
4,
=

‘two-base
.throwing error
:by 3B(#5);
:then RBI by
-batter #7

17
PRIL

+

m

‘:m
m
iy
(=]

-one-base error
by SF(#10), plus
:two-base error
‘by CF(#8) on
:same play,
‘then RBI by
.batter #8

_l&
MIVE

—

NG
o

®

‘one-base hit;
‘then out by
-fielder's choice
.on next batter,
P(#1) to 2B(#4)

s
NWGE

N

C B

.reaches

:1st base by
-fielder's choice,
:P(#1) to 2B(#4),
-on previous
‘batter

FG

F9

fly out to
'RF(#9) for
:3rd out

end of inning

%\JEE
us

O

1st ‘

O

O

3rd

1

4th

5'

6th

7th

8th

Example

5

5 runs scored
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'FIELDER
'POSITION
‘NUMBERS

6 Lo

:one-base error
‘by 1B(#3) not
.catching throw
from SS(#6);

6-E3 éthen RBI by

-batter #14

&

‘two-base hit;
-then RBI by
.batter #14

T,
58
&>

Q.

‘three-base hit,
-but thrown out
‘trying for home,
LF(#7) to
88(#6) to C(#2)

-home run,
self-RBI by
‘batter #15

& 1%

4]
—

.two-base
+throwing error
:by 3B(#5);
-then RBI by
-batter #17

+E
E10

.one-base error
.by SF(#10), plus
‘two-base error
:by CF(¥8) on
-same play;
‘then RBI by
:batter #18

1-4

N

®I

1B

‘one-base hit;
‘then out by
-fielder's choice
-on next batter,
'P(#1) to 2B(#4)

/FC

.reaches

:1st base by
-fielder's choice,
:P{#1) to 2B(#4),
.ON previous
.batter

F9

O

fly out to
\RF(#9) for
+3rd out

¢’ end of inning

us

1st

2nd

3rd

4th

5th

6th

7th

8th

Example

5

5 runs scored
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2 NUMBERS

M one-base eror

by 1B(#3) not
catching thiew
from SS(#6);

then RBI by SAREY
batter #4

AN

v
two-baSe hit,
then RBi by
batter #4

three-base hit,
but thrown out
trying for home,
LF(#7) to
SS(#6) to C(#2)

home run,
self-RBI by
batter #5

E. CEST

two-base
throwing error
by 3B(#5);
then RBI by
batter #7

jone-base error

by SF(#10) plus
basa emor

by CF(#8) on

lsame play;

[then RBI by

batter #8

/1B

one-base hit,
then out by
fielder's choice
lon next batter,
P(#1) to 2B(#4)

reaches

1st base by
fielder's choice,
P(#1) to 2B(#4),

on previou
batter M

fly out to
RF(#9) for
3rd out

7th

8th

Example

end of inning

5

5 runs scored
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one-base error
by 1B(#3) not
catching throw
from SS(#6);
then RBI by
batter #14

two-base hit;
then RBI by
batter #14

three-base hit,
but thrown out
trying for home,
LF(#7) to

SS(#6) to C(#2!

home run,
sef-RBI by
batter #15

one-base error
by SF(#10), plus

batter #18

lone-base hit;
then out by
fielder's choice
on next batter,
P(#1) to 2B(#4)

reaches

1st base by
fielder's choice,
P(#1) to 2B(#4),
lon previous
batter

fly out to
RF(#9) for
3rd out

1st

2nd

3rd

4th

5th

6th

7th

8th

end of inning

5 runs scored




